Form ACO-1 September 1999 m Must Be Typed

# WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License #_5205	API No. 15 - 047-20918-00-01
Name: Mid-Continent Energy Corporation	County: Edwards
Address: 105 S. Broadway, Suite 360	<u>SW_NE_Sec23Twp26_SR18</u> East
City/State/Zip: Wichita, KS 67202	1980 feet from S / (N)(circle one) Line of Section
Purchaser: SemGas	1980 feet from (E) W (circle one) Line of Section
Operator Contact Person: Jack Buehler	Footages Calculated from Nearest Outside Section Corner:
Phone: ( 316 )265-9501	(circle one) NE SE NW SW
Contractor: Name: Warren Drilling, LLC	Lease Name: Crockett Well #: #1 owwo
License: 33724	Field Name: Bordewick East
Wellsite Geologist: Ben Landes	Producing Formation: Lansing
Designate Type of Completion:	Elevation: Ground: 2163 Kelly Bushing: 2169
New Well Re-Entry Workover	Total Depth: 4716 Plug Back Total Depth: 4710
/Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 367 Feet
Gas SIGW	Multiple Stage Cementing Collar Used?   ✓ Yes □ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set 3545 Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator: Vincent Oil Corp.	feet depth tosx cmt.
Well Name: #1 Fisher "B"	
Original Comp. Date: 8-24-1981 Original Total Depth: 4675	Orilling Fluid Management Plan (Data must be collected from the Reserve Pit)  12-17-07  Obligation content  15,000  Depth Fluid volume
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 15,000 ppm Fluid volume bbls
Plug Back Total Depth	Dewatering method used Settlement
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: Oil Producers Inc.
,	Lease Name: Palmitier SWD License No.: 8061
11-10-2006         11-13-2006         12-7-2006           Spud Date or         Date Reached TD         Completion Date or	Quarter SW/4 Sec. 25 Twp. 25 S. R. 16 ☐ East ✓ West
Recompletion Date Recompletion Date	County: Edwards Docket No.: D-20983
•	, 4
107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	ar or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply.  2 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regula herein are complete and correct to the pest of my prowledge.	te the oil and gas industry have been fully complied with and the statements
Signature: Tan Sulla	KCC Office Use ONLY
Owner July 9, 2007	Letter of Confidentiality Received
100.	If Denied, Yes 20 Date: 7-12-07
Subscribed and sworn to before me this 10 day of July	Wireline Log Received RECEIVED
20.07.	Geologist Report Receiven SAS CORPORATION COMMISSION
Notary Public: GAYLE NYE NOTARY PURLE	UIC Distribution JUL 1 1 2007
Date Commission Expires: STATE OF KANSAS - My Appt. Exp.	

#### Side Two

Operator Name: Mid	-Continent Energy (	Corporation	:	l ea	se Name:	Crockett	ockett Well #: #1 owwo					
	<sup>26</sup> S. R. <sup>18</sup>			County: Edwards			,					
NSTRUCTIONS: Sested, time tool ope emperature, fluid rec	how important tops n and closed, flowin covery, and flow rate s surveyed. Attach	and base of g and shut-i es if gas to s	formations pe in pressures, surface test, a	enetrated whether llong with	d. Detail a shut-in pre	Il cores. Report	static level, hydro	static pressu	res, botto	m hole		
Drill Stem Tests Take		Yes	s 📝 No		. ✓L	og Formatio	on (Top), Depth a	nd Datum		Sample		
Attach Additional Samples Sent to Geo	·	☐ Ye:	s <b>√</b> No		Nam Heet				Datum -1699			
Cores Taken		☐ Ye:	s <b>√</b> No	·	Lans			3868 4010		1841		
lectric Log Run		✓ Yes	s 🚺 No		вкс				2160			
(Submit Copy)			r r			erhook		4538	_	2362		
ist All E. Logs Run:			1		Viola			4570	-	2401		
Gamma Ray I	Neutron, Cem	ent Bon	: d			son Sand		4669 -2500				
			0.000							·		
		Report	CASING I all strings set-c			ew Used ermediate, product	ion, etc.					
Purpose of String	Purpose of String Size Hole Size Drilled Set				/eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Type Used		and Percent dditives		
Surface Casing	rface Casing 12" 8-5/			23 lb		367'	,					
Production Casing 8-3/4 5		5 1/2	5 1/2			4710	AA-common	150 sks	3% FR-	322, 10% sal		
	-				<del></del>					<del></del>		
			ADDITIONAL	CEMENT	TING / SQL	JEEZE RECORD						
Purpose:  Perforate Protect Casing	Depth Top Bottom	Туре о	of Cement	#Sacl	ks Used		Type and P	ercent Additives				
Plug Back TD Plug Off Zone							***************************************					
	PERFORATI	ION RECORD	) - Bridge Plug	s Set/Tvn	)A	Acid, Frac	cture, Shot, Cement	Squeeze Beco	rd			
Shots Per Foot			ach Interval Perf			(Amount and Kind of Material Used) Depth						
	4686-4690	· · · · · · · · · · · · · · · · · · ·		····		set CIBP @ 46	520					
2	4552-4562, 4542-4	546, 4532-4	453 <del>6</del>		<del></del>	acid,						
	4247-4253	· 				acidized, set p						
	4214-4218					acidized		<del> </del>				
UBING RECORD 23	Size /4	Set At 4190	4	Packer 230	At .	Liner Run	Yes ✓ No					
ate of First, Resumero	Production, SWD or E	Enhr.	Producing Meth	iod	✓ Flowing	J Pumpin	g 🔲 Gas Lift	Oth	er (Explain)			
stimated Production Per 24 Hours	Oil	Bbls.		Mcf	Wate	r Bb	ols. G	as-Oil Ratio		Gravity		
Disposition of Gas	METHOD OF C		425 I		30	Production Interv	/al			EIVED		
Vented ✓ Sold	Used on Lease	; :- :-	Open Hole	✓ Pe	orf. 🔲 🖸	ually Comp.	Commingled	KANSAS		ATION COMM		
,		L;	Other (Specify	y)			<del></del>		JUL 1	<u> 1 2007 </u>		



**SALES OFFICE:** 

100 S. Main Suite #607 Wichita, Ks. 67202 316-262-3699 316-262-5799 FAX

#### **SALES & SERVICE OFFICE:**

10244 NE. Hwy 61 P.O. Box 8613 Pratt, Ks. 67124-8613 620-672-1201 620-672-5383 FAX

### **SALES & SERVICE OFFICE:**

1700 S. Country Estates Rd. P.O. Box 129 Liberal, Ks. 67905-0129 620-624-2277 620-624-2280 FAX

## Invoice

<del></del>		Invo						
Bill to:		5708201	Invoice		oice Date	Order	Station	_
	MID CONTINENT ENERGY	·	611092	l.	1/11/06	14468	Liberal	
	105 S. Broadway, Suite 900	·			,	escription		
	Wichita, KS 67202	· [				nent		
	Comment of the Commen	,		Lease		Wel		
	The same of the sa			Crocke AFE		1 OWV		
. :				AI L		FO	Net	
-	CustomerRep	Ange	,		Tre	ater	1100	50
· · · · · · · · · · · · · · · · · · ·	Jeff Burke	<b>y</b>		•		Hulsey		
D.	Description			UOM	Quantity	Unit Price	Pric	:e
0105	AA2 (PREMIUM)	280	•	SK	150	\$17.45	\$2,617.50	
D103	60/40 POZ (PREMIUM)	5/2		SK	25	\$11.30	\$282.50	-
C195	FLA-322			LB	43		\$322.50	•
C244 (	CEMENT FRICTION REDUCER	y re		LB	43	\$6.00	\$258.00	•
C321 (	GILSONITE	h ho		LB	705	\$0.67	\$472.35	,
221	SALT (Fine)	t of		GAL	810	\$0.25	\$202.50	•
2312`	GAS BLOCK	RECE	IVED	M LB	106	\$5.15	\$545.90	•
C194 (	CELLFLAKE	KANSAS CORPORA	HOM COMMISSIO	LB	36	\$3.70	\$133.20	•
C320 (	CEMENT GELL	JUL 1	1 2007	LB	44	\$0.25	\$11.00	•
211	AUTO FILL FLOAT SHOE, 5 1/2"			EA	1	\$320.00	\$320.00	•
143	TOP RUBBER CEMENT PLUG, 5 1/	CONSERVATI 2" WICH!		EA	. 1	\$75.00	\$75.00	•
`101 ′	TURBOLIZER, 5 1/2"			EA	14	\$74.20	\$1,038.80	•
121 1	BASKET, 5 1/2"			EA	2		\$475.00	•
263	WEATHERFORD CEMENT PORT (	COLLAR, 5 1/2"		EA	1	\$4,316.00	\$4,316.00	•
800	THREADLOCK COMPOUND KIT			EA	1	\$30.00	\$30.00	•
100 I	HEAVY VEHICLE MILEAGE - 1 W	AY	<b></b> .	MI	70	\$5.00	\$350.00	
101	CAR, PICKUP OR VAN MILEAGE -	1 WAY		MI	35	\$3.00	\$105.00	
104 I	PROPPANT / BULK DELIV SERVIC	ES/TON MILE,	\$200 MIN	TM	285	\$1.60	\$456.00	
107 . (	CEMENT SERVICE CHARGE			SK	175	\$1.50	\$262.50	
210	CASING CEMENT PUMPER, 4501-5	5000' 1ST 4 HRS	ON LOC	EA	. 1	\$1,827.00	\$1,827.00	
701- (	CEMENT HEAD RENTAL		9	EA	1	\$250.00	\$250.00	
141 (	CC-1, KCL SUBSTITUTE			GAL	11	\$44.00	\$484.00	
402	CEMENT PUMPER, ADDITIONAL I	HRS ON LOCAT	ION	HR	4	\$210.00	\$840.00	`
LEASE	=# CROCK		Lij -		<del></del>		10.0.00	
\C #	73550 AMT 13,943	.88				Sub Total:	\$15,674.75	
/NO #_			<b>W</b>			Discount:	\$2,351.21	
1	The state of the s		•			Sub Total:	\$13,323.54	
-		Edw	ards County &	State Tax	Rate: 6.30%	% Taxes:	\$620.34	
•		•	,	(1)	) Taxable Item	Total:	\$13,943.88	7

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182

FIELD ORDER 14468 Subject to Correction | ひかり | かかり | 73-265-190 County **Customer ID** State Station Ks Depth Formation Shoe Joint Mid Continent Energy Corp (new well) 4710 Casing Depth 以つしO Job Type prostring Port Coller 015 Customer Representative Treater Materials AFE Number PO Number Received by Product Station QUANTITY MATERIALS, EQUIPMENT, and SERVICES USED UNIT PRICE **AMOUNT** Code D105 1503L C-AA Common D103 25 sk. 60/40 POZ 43 11. C.195 L Cement friction Reducer C244 43 lb C321 Dilsonite 705 1b 4221 810 lb 6312 10016 Cellflake C194 36 12 C320 Fall Auto till Plact shoe 5/2 Top Rubber Plug 51/2 F143 FIDI F121 weatherford Coments Port Collar 5/2 F263 F400 E100 Heavy Vehicle Milrage Pickup mileage EIDI E104 Propocito a Bulk delivery RECEIVED E107 Service charge KANSAS CORPORATION COMMISSION Casing Cement Pumpe ONSERVATION DIVISIO WICHITA, KE 11 00 141 CC-1 B402 4 hrs Discounted total + taxes 10244 NE Hiway 61 • P.O. Box 8613 • Pratt, KS 67124-8613 • (620) 672-1201 • Fax (620) 672-5383 TOTAL

Taylor Printing, Inc. 620-672-3656



# TREATMENT REPORT

Customer )	18565	رجي (	Le	Lease No.						Date								
Lease	koth				W	ell#	DW	wo :	•		]	11-1	1-06	4	•			
Field Order # Station 2: becal						····		Casing	Depth	Depth 4710			vords		State			
Type Joh	string P				nen	ew will Formation						,	Legal De	escription いらっぱ				
PIPE DATA PERFORATIN						DATA		FLUID (	JSED	JSED TREAT					MENT RESUME			
Casing Size	Tubing Siz	Size Shots/Ft			150	50 sks		id 592	Calset.	.3% FRATE PRI			ESS 1SIP 1010 5=17					
Depth 4フ1フ	Depth		From		Tò	٩		Dod	ges blak	May	/o Co	11010	<u>(μ. υσ</u> ε	5 Min.	<u> </u>			
Volume	Volume		From		To 🚅	02545		d 0/40 c	_	Min				10 Min.				
Max Press	Max Pres		From		То	0		ac		Avg				15 Min.				
Well Connection		-	From		То	io				HHP Use		d		Annulus Pressure				
Plug Depth	Packer De	epth	From		То				4,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Gas Volume			•	Total Load				
Customer Rep	presentative	Jel	A B.	irke		Station	Mar	nager Te	ry Ben	Treater Jason			n Hulsey					
Service Units Driver	130	38	<u>o</u>	402		344		502	,			<del></del>						
Names .	J. Hulso Casing	Ab	lk ubing	Olve	رم	Dans	لعد	Brown				<del></del>		<u></u>				
Time	Pressure		essure	Bbls	. Pum	ped		Rate	Service Log									
1530									pr la/wait									
1700			·	<u> </u>				·· · · · · · · · · · · · · · · · · · ·	run float equip/port coller @ 3545'									
2000					•				end floot equip /wait									
0000		Ш	-12	00				··· - ·· ·	spot/safety/rigup									
0015									Circ w/ rig									
0130		V- "	3.77		≠ ÷.		7	•	Switch						· · · · · · · · · · · · · · · · · · ·			
0140	100 ps;						4.5	bbl	1 .	> 150+ks @15 ppg 1.44ff/sk 6.21 gel								
0155 0204	10075	•	·······	38	<u> 6619</u>	5			end cm				le 25.	sks (2)	15 ppg			
0211	100						<u>.                                    </u>	<u></u>	wesh	<del>1 - 1 -</del>	مناح	<u>e</u>						
0229	100 75. 400 psi			an	bbls			5 bbl 5 bbl	displace	s cut	>	·						
0233	800 psi				الطط	}	2 L		5/012 0		<u> </u>							
0240	1400%			l	7 bb1				bune	2).re	1 F1	oct.	held					
										7 8								
									-						:			
												,		RECEI	/ED			
		,	,					·····					KANSAS	CORPORATIO	ON COMMISSION			
	·				<u> </u>			·					J	IUL 1 1	2007			
					· · ·					<del></del>		· · · · · · · · · · · · · · · · · · ·	co	NSERVATIO				
	<del></del>		•			-					<u> </u>			WICHITA	, no			
		ļ					·	· · · · · · · · · · · · · · · · · · ·										
1024	1 NE Hiv	lav.	61.0	) () - F	lov-	2612	D۷	att KC	7124-964	2 . /60	በ) 67	2 120	11 a Equ	(620)	672-5383			
		زيند	• I	. V.		9010		<del>att, NO</del> (	77727700	. <del>U ~ (U</del> 2	<del>0, 0</del> 7.	<b>314</b>	лтта,	(UZU)	012-JJ0J			